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HINTS €3 SoLUTIONS
(7-9) : On the basis of the information given in the 14. Clearly (1) follows, (I} does not follow, n

. Question, the following table can be prepared. 15. If Soman is rich he may or may not be a businessman as it is
Lay Channel Movies given that “Some businessmen are rich.” Likewise he may
Tuesdoy SONY Spy theiller t[l;'i': £: may not have a big firm. Hence, neither (1) nor (1)
Wednesdoy B4l Science Fiction ) g
Solurdoy HBO Commedy 19, Input of B = 12@, Outgo of B = (550 + 250) = 800
Sundoy STAR Nysteiy Hence, number of units demanded in 8 = (1200 - 800) = 400.

7. On Wednesday Mohan Dey can watch “the science fiction

movies.”

8. SONY channel will telecast “a spy thriller en Tuesday.”
9, Mohan Dey did not watch the movie shown on Saturday.

20

Number of units demanded in € = input - outgo ~
250 + M - 800 - 300 = 225
M -1100+ 250=225
M =1075

. Total demang in E =550 + 800 + 650 = 2000,

{10-12) : On the basis of information given, following 21
truth table can be prepared. Now, it is given that demand of E is 30% of demand in A.
D < P H M Or 2000 = 80% of A

sl I I A=2% 2500 uni

Shivani v * i g .

Asha v v v v 23. From statement A alone we cannot answer the question.
i From B, present age of father = 30 yr.

ot v v z Four years back, age of father = 26 yr, and age of mother =

MNomite v v v 24 yr.

10. From the table, it is clear thar Namita is good in Physics,
History and Mathematics but not in Computer Science.

11. Asha is good in History, Physics, Computer Science and

24,

From A, 4x + 5x =45

= xX=53
~Number of boys =4x 5=20
From B number of girls = 4x

Matheimdtlcs, N and number of boys = 5x.
12. Pratibha is good in Physics, History and Dramatics. Given, §x = 04-4x
13, It is clearly given in the statement that shortage in the Z, Y=g

production o%l onion will lead to rise in price of opion. Hence, boys = 45

However, it is not implicit whe

or noL

-

ther onions were exported

Therefore, question can be answered with help of either of
scarements.
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